1 Prove that the pomts (1 3), (2 5), (3 7) are on the
~ same lme i T R -

| _When X coordlnate changed from 1 to 2,
thechangelnXIs1 NN, E
~ When y coordinate changed from 3 to 5
,'thechangemylsz | Ll T -
That means if the change in x coordlnate is 1 change

~iny coordinate is 2.
If x changed 1 from 2, it becomes 3.
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ify changed 2 from 5 it becomes 7.
So (3, 7) is a point on this same line.

2 Find the coordinates of two more pmnts on the
line joining (-1, 4) and (1, 2).
(—1,4) and (1, 2) are two points on a line.
The change in x = T=)=1+1=2
The change iny = 2 —~ 4 = —2. That means as
X increases hy 2,y should decrease by 2.
Another point.on this line = (1T + 2, 2 — 2) = (3, 0)

~ Another point = 3+2,0-2) =(5-2)

~ Note: As x increases by 2, y decreases by 2.

-So0as x mcreases by 1,y decreases by 1.
Thus (1 + 1 2—1)—(2 1) ,
-1+1,4- 1) =(0, 3) are also pom’ts on the same Ilne

3. XX, X, and Y ¥, ¥, ... @re arithmetic sequences
Prove that all points with coordinates i inthe sequence
(X,s ¥.), (X Vo)s (X V) ... - 0f number pairs, are on the
same line. T e | '
X1 Xp1 X, ... @re in the arithmetic sequence.
So if d is the common dlfference of thls sequence
X, =X, +d '
X=X +2d=x,+d
x4=x1 +‘3d_=x3+d

Y15 ¥y Yy - @re in arithmetic sequence So if e is the
common dlf‘ference of this sequence

‘y—m+e
Y, ~y1+2e—y2+e
Y, =V, +Se-—y3+e
Asx coordmate change by d, y coordmate change by .
When X, = X, + d then Y=V, +e.So points (X, V),
(X, Y,) and (x3, y,) are on the same line. | ~

When x, = x, +dtheny, =y - ¢ g the pomt (%, V)
.is also on the same line.




